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H & 0l & AFSH B dl A
P21EE =0I4 2Bt oIt
AR BTN
M CIANY 2
Sl DRI MHIA KIT (et @
- _ - &E
SN ZH - S(S) - MRAY - BAS Ol &t o S dImEET
CBIIEN 5,511,803 3,672,007 1,839,706
2 2,846,262
= 207,661
2 2,457,830
DlEwy 2 125, 143 195,907 AT0,764
2 27,568
2 97,575
IS I MHIA RIB 125, 143 195,907 AT0,764
2 27,568
2 97,575
plEHy 29 52,375 35,590 16,785
201 LEr2 | 4,200 19,200 A15,000
01 AR 2t2lH] 4,200 19,200 15,000
OoIRA MAFH 2| 10,0002 * 122 1,200
OIALER FCAH Ha £42
3,000,000% * 14! 3,000
203 &2 E= bl 5,000 5,000 0
03 Al EZ QIR E Y| 5,000 5,000 0
R E IR 5,000,000% * 14! 5,000
303 ZA3 2,200 2,200 0
01 Z&3 2,200 2,200 0
Ol DIYRIXl L4t Al4
1,000,002 *13] 1,000
CEEE=EIE- 1,200,002 *12] 1,200
308 XX €M SOI & 10,975 0 10,975
11 ZII2SOICHEH 24 X AL H] 10,975 0 10,975
OXHIT FOISESZBAAL KX 22|
10,975,000 14! 10,975
405 XtaH3 S| 30,000 0 30,000
01 KA QLS EFSH] 30,000 0 30,000
ofiEs =5 &I DN AY
15,000, 0002 14! 15,000
OSHRIRA wAAAY 7Y
2,500,0002 +6CH 15,000
ssioR 23 29 29,976 130,460 A100,484
201 L2t 29,976 21,360 8,616
02 32| 29,976 21,360 8,616
os8EYLII *NLL
71,5002 #12CH * 122 10,296
oRRAAZI| XL
150, 00024 +9CH 122 16,200
Ol HIAY SXBL 110,008 122 1,320
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AR BIEICT

=
. OIRASHEY 29

Col: DIRBEAHIA KB CLEE)
SA SR (S) - MRAY - BAS il &t e RS2
ogYzg soolALa)| dsslde
180,000 x12& 2,160
HEY AIR2X2 15,224 15,737 AB13
201 Ler2gd| 15,224 15,737 AB513
01 AL 22l bl 12,370 12,370 0
OFLUSEZ LSHIE(ZHBAL)
500,000 x12& 6,000
O=xRESES - ==28X 7¢ 1,070,000 14! 1,070
O, ZAAE0IZSH SALHEX 2
1,000, 000 * 14 1,000
ONSYE Y= MA 2l 2,000,000 =14 2,000
O=xREE & 2UZESZ P72 2,300,000 14! 2,300
02 23234l 2,854 3,367 AB13
OYRHHa SHEE= 2,853,950 « 14 2,854
NESHAHSEAMNSE N 17,546 4,080 13,466
= 17,546
201 et gy| 14,246 780 13,466
= 14,246
01 AFS 22l bl 14,246 780 13,466
ONEZH SEMNR A2 2
14,246,000& 14 14,246
= 14,246
202 o44| 3,300 3,300 0
= 3,300
01 =L YI 3,300 3,300 0
QIIE2H SEANR & 550,000 +6HSH 3,300
= 3,300
o &= 10,022 10,040 A18
= 10,022
201 LBr2Ed| 9,022 8,540 482
= 9,022
01 At 22|l 9,022 8,540 482
oAELZ AIR22l 9,022,000 =14 9,022
= 9,022
202 04| 1,000 1,500 A500
= 1,000
01 = LHGYI 1,000 1,500 A500
O A= 1,000, 000 * 14 1,000
= 1,000
HAEHE 29 75,200 67,600 7,600
A=HE 29 75,200 67,600 7,600
A=60t 20l AR 30,000 30,000 0
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SA

ol =
ZE: ASHY 2
o A=Y 29 (che &S
M L5
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
301 2283 30,000 30,000 0
12 JEt2 2= 30,000 30,000 0
CEEL BTN
300,000 100 30,000
=2 45,200 37,600 7,600
201 £et2E| 13,600 13,600 0
T AL 22| 13,600 13,600 0
ONLA=IAAS HA+=E 70,0008 *1021+83] 5,600
OXYASRS AASE
100,000 102! +82 8,000
202 044 4,000 4,000 0
01 =W oHI 4,000 4,000 0
OBAES KT .G L OBTHS BE
20,0002 »421x502] 4,000
401 Al HIZL 20l 10,000 20,000 210,000
01 Al&HI 10,000 20,000 210,000
OBAMNSHARZ S EHIAE
5,000,000& *24! 10,000
403 XXM SAH=01 & 17,600 0 17,600
02 SISOt A 2 S AL ] 17,600 0 17,600
OU=HIANAL(MSH) M7= L3
17,600,000& 14| 17,600
ANl F=D1otE 2,030,307 1,848,067 182,240
= 1,329,565
< 187,661
= 513,081
SSTE FHUE 239,500 189,500 50,000
SSFHael 239,500 189,500 50,000
201 fet2E| 13,500 13,500 0
01 At 22l 13,500 13,500 0
OFALALNE AoIRIH Fasg
70,0002 102! %52 3,500
OFSALAAHE AR MARY
100,000& 102! %52 5,000
OsSF=H AEEH 200,000& 52 1,000
OSS=F8 AtR222H| 1,000,000 =14 1,000
OTSFLUALINUA BH442
3,000,000 *1EHX 3,000
202 044 1,000 1,000 0
01 =W OHI 1,000 1,000 0
O=ss+8 384 20,0003 221 %252 1,000
307 212t01 A 25,000 25,000 0
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BRI N
HE: MOl FHOE
el BEXS FHOHE CEERE

- _ - &
SA -3 HAGA) - HEAY - BES Ol & oK 'Oﬂ'@oEu HuE2
02 BIAHAARBE 25,000 25,000 0
OBSEY oIS MI2NY
25,000, 00021+ 14! 25,000
402 212t 20| H 200,000 150,000 50,000
01 DI2FRHE AL B X (RHRITHR!) 200,000 150,000 50,000
OLBBEFHUAL LU X
20,000, 0002 *10€+ X 200,000
o= sz Ho 70,000 70,000 0
=& UITNHIAY (HEARY) 70,000 70,000 0
401 AlZHIL 20| 20,000 20,000 0
01 Al&ttl 20,000 20,000 0
OsE LEARSY 5,000, 0002 *4% 20,000
402 212t 20| H 50,000 50,000 0
01 QI2FRHZ A 2 X (RHRITHE! ) 50,000 50,000 0
OsE BFEN(Z 2,500,002 %205 50,000
ASE FHOUE XA 1,720,807 1,568,567 132,240
= 1,329,565
= 187,661
2 203,581
=HZ 1,657,207 1,461,121 196,086
= 1,305,765
= 165,721
= 165,721
301 YA 1,308,202 1,189,734 138,468
= 1,062,562
= 132,820
2 132,820
01 AFSI 2 E 45123 1,308,202 1,189,734 138,468
OIZMBRIHLZN FHSO
1,328,202, 00021 *14] 1,308,202
= 1,062,562
= 132,820
= 132,820
403 Rt SHHI S K20 H 329,005 271,387 57,618
= 263,203
= 32,901
2 32,901
02 2| 2SOl THEHRH2 = 2| AL | 329,005 271,387 57,618
O4HKRX SUAY 329,005, 0002 *14! 329,005
= 263,203
= 32,901
2 32,901
seg =g X 38,000 91,846 A53,846
= 19,000
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SA: oot A

B A

o9l HASE =

o - = PSEE
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
o 19,000
301 LBtENS 38,000 87,846 A\49,846
< 19,000
= 19,000
01 Al Ed XM +dl= 38,000 87,846 A\49,846
OHERR FHHIS XNEAME
38,000,0003 141 38,000
< 19,000
= 19,000
SR R zMES=SI X 12,000 22,000 210,000
202 044 2,000 2,000 0
01 =W oHI 2,000 2,000 0
O=eII=S NS SIS H A
20,0003 221 %503] 2,000
401 Al HIZL 20l 10,000 20,000 210,000
01 AlEHI 10,000 20,000 210,000
O=TFEL U IS 2LBA
1,000,000& *x10& 10,000
SO0E HOHQI =S JHEALSY 7,600 7,600 0
= 3,800
< 1,140
= 2,660
307 212t01 A 7,600 7,600 0
= 3,800
S 1,140
= 2,660
M AIRRISXIMEE X 7,600 7,600 0
OSUHEZ0 =KL XIAAS
3,800,000& *24! 7,600
= 3,800
< 1,140
= 2,660
EE 87X FHSH X2 6,000 6,000 0
< 1,800
= 4,200
401 Al HIZ SO 6,000 6,000 0
< 1,800
= 4,200
01 Al€H| 6,000 6,000 0
OYATH +HRX FIHZ0 X
3,000,000& 24 6,000
< 1,800
= 4,200
SA h 23,780 22,430 1,350
SXOHe 2 23,780 22,430 1,350
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SA

=L R PTE
ool sXHE e (S5 A2
= = e &E
SN ZH - S(S) - MRAY - BAS Ol &t o S dImEET
SX HEe 22l 23,780 22,430 1,350
201 L2t 17,580 16,030 1,550
01 AbR2t2|H] 17,580 16,030 1,550
OSHHBSN E442 468,008 1021 4,680
OSEHLHS EZ442 4,500,000 14! 4,500
OMLEP RHULARE AA L ALY
100, 00021 #7901 %125 8,400
202 04t 6,200 6,400 A200
01 2UHOIHI 6,200 6,400 200
SYNLHS NSCHE 20,0008 %321 %503 3,000
CEEES P 20,0002 %221 %80! 3,200
a2l 211,600 28,720 182,880
2 15,000
2 196,600
OB 196,600 28,720 167,880
A prEe| 2ol 196,600 28,720 167,880
201 L2 Y| 3,600 14,400 10,800
02 22| 3,600 3,600 0
OHXEEE X SxT
300,0002! 1224 2 3,600
202 04t 3,000 4,320 ~1,320
01 201 | 3,000 4,320 A1,320
OUXIEEBR HEFHZ ot
20,0004 %321 %503] 3,000
207 1ot 10,000 10,000 0
02 & & 10,000 0,000 0
OUXITE KLIS ST 8% 40,000 +2502 X| 10,000
401 Al & HI L 2 THH| 180,000 0 180,000
01 AlZHI 180,000 0 180,000
OZRN EAMFH HZX 220/H
160,000, 000! * 14! 160,000
OAEEl BH42 FUIZA 20,000,002 14! 20,000
HHARRAES X2 15,000 0 15,000
2 15,000
HAZTIRES X2 15,000 0 15,000
2 15,000
201 L2t 15,000 0 15,000
2 15,000
01 AbR2t2|H] 15,000 0 15,000
OBXNEZE X YX2 900,008 *12HE 10,800
2 10,800
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SA

CBILIEIN

R AR 2
&l HAAMEAZTLE KR (el &3
= X XH Ct2l (S = o HASZ OH x‘—-IL'i'E =2}
Tkl'ox—|'|_|"l‘|(2|)1|)'k"—rA|'|=|"l£o—1 0:"‘&'—| O:H&.OH t”DLEI:I
O©&HXIGI O At 2tel ] 4,200,000 14! 4,200
= 4,200
NHHF D2t 2,777,072 1,114,942 1,662,130
= 1,474,129
< 20,000
s 1,282,943
UNESRE ¥l 76,220 75,740 480
= 480
= 75,740
NHE=SI|EE 2el 44,880 44,400 480
= 480
s 44,400
201 fetEdy| 23,400 23,400 0
01 At 22|l 23,400 23,400 0
OXNEEE JIEE Fl 15,000, 0003 * 14! 15,000
OXNFZALEZHE AX| 600,000& *14& 8,400
202 04l 480 0 480
= 480
01 =L YI 480 0 480
QOGPS &AIZ=A 2te] 480,000% *14] 480
= 480
308 AtXISHHSOIH 21,000 21,000 0
11 3 2SOHEZ & E P E AL I 21,000 21,000 0
OXNEINIZE LHMEIAL AHE 12,0003 *1,750F 21,000
ANHHE 2t 1,340 1,340 0
201 LetEdy| 1,340 1,340 0
01 At 2teltl 1,340 1,340 0
OXN=8ZdELX EX HH & =24
,340,000& 13l 1,340
EXNSE 2l 30,000 30,000 0
201 et Fy| 26,400 26,400 0
01 AtR2teltl 26,400 26,400 0
OSEANSHH(EREX) EXFe
300,000 *33& X 9,900
OXNEZRELFREHI 30, 000& *550& K| 16,500
202 04l 3,600 3,600 0
01 =L YI 3,600 3,600 0
OXNEHR SXIEA Ul 20,0003 32160 3,600
NEFE 2tel 275,329 313,905 238,576
= 34,382
< 10,000
s 230,947
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S H:
7(‘| il—l:
C|—O|:

P = N
CBY . SA(S) - MIBAY - BAS ol &t S HIDE
HES AKX ZAL 22 68,764 68,764 0
= 34,382
i 34,382
201 £et2E| 66,764 66,764 0
= 33,382
i 33,382
01 AtR2telH 66,764 66,764 0
OMNEZSARXI BEF=+2
43,6003 *54,9052 X|x23| /83 57,684
= 28,842
i 28,842
ORSAINHABAIRIAS] BASS
70,0003 1121 %43] 3,080
= 1,540
= 1,540
OZBAIXIIL 2 23| 2,000,000 =14 2,000
= 1,000
= 1,000
OSAIXIL 28 £ 0128d g2
4,000,000 =14 4,000
= 2,000
= 2,000
202 (4l 2,000 2,000 0
= 1,000
= 1,000
01 =Woddl 2,000 2,000 0
OMESAIXNI EXNSE XA
20,0003 221 %503] 2,000
= 1,000
i 1,000
AHFE 29 22 171,565 219,141 AA47,576
201 £et2E| 51,365 44,74 6,624
01 AtR2telH 210 420 A210
oXNgeAs 4 ¢ 70,0002 %321 %13 210
02 s5=3H 51,155 44,321 6,834
ORNTJAIE U PSHNBEILAAY 2K
2= 43,355,000 « 14| 43,355
O&I=H ZHANAY SN2+
70,0002 7012 5,880
ONEND B28s)| RN2S
160,000 <122 1,920
202 (4l 3,200 4,400 A1,200
01 =W OHI 3,200 4,400 AT1,200
Oas+=d0bl 100,000& *1e1%122] 1,200
OASHS 2& U HFIA
20,0002 221 %402 1,600
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A oot

#
M (A
(== I D o
=

el ANRFLE 22 (el &R

x - . afE
SH B G(EA) - HRAY - BES S HlmE2
OXNZHR SHEXA 20,0003 *121x203] 400
207 AR 60,000 70,000 A 10,000
02 ™ AHH Y| 60,000 70,000 A 10,000
OSRXNEIIEZS Hotst 2=
60,000, 0002 14 60,000
405 RHAHE S H| 57,000 100,000 243,000
01 AL 2 EFHSHI 57,000 100,000 243,000
OS2UHEEANAY HEEX 0=t
35,000, 000 14 35,000
ORSHBETRALY YYBX B4
22,000, 0002 =14 22,000
Ngee 29 22 20,000 20,000 0
& 10,000
o 10,000
207 A ORI 20,000 20,000 0
& 10,000
o 10,000
01 A2 EHH| 20,000 20,000 0
QOIDAl ¥ A=24 XFEI
20,000, 000& 14 20,000
L= 10,000
o 10,000
Hg=Rdz 2l 29 15,000 0 15,000
201 et gl 15,000 0 15,000
01 AL 22l bl 15,000 0 15,000
ORIIEIZEAH =2 1,000, 000& 104! 10,000
OFZAIEXIt A === 50,0003 =100 X| 5,000
M=AAE =& 69, 356 79,597 210,241
& 10,000
o 59, 356
T2 Y AEVS EE 49,356 69,597 A20,241
201 L2l 6,338 8,057 21,719
01 At222ld| 3,560 5,560 A2,000
OSZ2YFA EE(EE) 3,000 *1,0004 3,000
OS2YFASAAS FALY
70,0003 821 x13] 560
02 222934l 2,778 2,497 281
OT2YFA MEE SHE 950& *2, 166K 2,058
OTBHEA HRIA SYI| SMR
20,0002 =123 =3[H 720
308 KX SHH SOl 21,918 20,440 1,478
11 I 2SUHUSHZ & ELAE AL Y| 21,918 20,440 1,478
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SA

CBIEIETN
B B I8
ool MFAAIY =X (ct9: M2
SA SR (S) - MRAY - BAS il &t e RS2
OL2YFA INFAFEANLE A2
17,223,000 14 17,223
OEREFAIIZE SN2 4,695,000& 14! 4,695
401 Al HI L2 0HHI 21,100 41,100 220,000
01 Al&HI 21,100 41,100 220,000
oHsESH AX 7,000 *300H4 2,100
OE2IANEE RAE I 300,000 3074 9,000
OEZEE A7 &X 200,000 =504 10,000
C2H Y ASHSE=E 20,000 10,000 10,000
& 10,000
i 10,000
401 Al HI L2 0HHI 20,000 10,000 10,000
L= 10,000
i 10,000
01 A&l 20,000 10,000 10,000
OS2I FAMHAIE EXLFRE
20,000, OOO%*V\' 20,000
& 10,000
o 10,000
SAHEE MY F=A 2,048,800 335,600 1,713,200
= 1,211,000
o 837,800
KIStAIE 2 Matst ALY 2,011,000 239,000 1,772,000
= 1,211,000
i 800,000
207 &0 Y| 2,011,000 239,000 1,772,000
= 1,211,000
i 800,000
02 AR 2,011,000 239,000 1,772,000
OXIStAIEES Hotst AFY
2,011,000, 000 * 14! 2,011,000
= 1,211,000
o 800,000
KIStAIE 8 H&ts ALY 37,800 96,600 58,800
201 et Fy| 36,800 35,000 1,800
02 2322l 36,800 35,000 1,800
OBUFESEACIANLE RXE>
3,066,666 =120 & 36,800
202 o44| 1,000 1,600 A600
01 = LHGYI 1,000 1,600 A600
OXIGIAIEE Hatah SE ZAL
20,0003 »201 252 1,000
K= THZE AFALE 307,367 310, 100 N2,733
= 228,267
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S BoteI A
Hm: NEAF |25
S K= KHEAFALY (&9 )
< - bolE!
SA-BY.SASH) - RN - B ol &t S HIDE
= 79, 100
INE=DUEYNINT ISy 228,267 220,000 8,267
= 208,267
201 L2 A H 228,267 220,000 8,267
=2 228,267
01 AH22+2|H] 228,267 220,000 8,267
OXNETHEAAIY =T (S ZH])
212,520,000 14! 212,520
=2 212,520
OXHTHZAAIY =X (| =EE2=HI)
5,120,5002 x 1Al 5,121
= 5,121
OXIETHEAAIY F=ZX(2H])
10,626, 0002 * 1Al 10,626
=2 10,626
INE=DUEYN NI 79,100 90,100 A11,000
201 L2 A H 75,500 86,500 A11,000
01 AFR2+2|H] 67,500 84,500 A17,000
OXHZ ME BT} 242
50,0002 *500 2 K| +224 & 50,000
OXETUZEAL JIE=E OH&Hl  150% %40,0002 6,000
OBJHZEHARAEY L NEMHEAIRARZ A
= 70,0004 501 %103 3,500
O KNEMEAMNERSE 5,000 *1,000H 5,000
© XNETEA =0I&HF 29|
3,000, 0002 * 14! 3,000
02 2229 8,000 2,000 6,000
oRuLER 2,0002 4, 000 X| 8,000
202 O1H 3,600 3,600 0
01 20| 3,600 3,600 0
O NETEAL SOAET L FAEH £
20,0003*3@*5%*12% 3,600
HHSAPH|(5IteIRA) 268,701 394,431 A125,730
ol 29| 163,073 287,089 A124,016
Ol 2| (510121 A) 163,073 287,089 A124,016
101 Q124H| 163,073 287,089 A124,016
RS 156, 111 151,330 4,781
CENIF=I==; 10,841 %3001 %480A| 2t 156,111
03 I HA22XE S 6,962 135,759 A 128,797
OdtXI22| 2LIHE 4,641
OAlZtel &gt 12,8912 %201 %120 Al 2+ % 150% 4,641
SXHEe 22 2,321
OAl2tQl gt 12,8912 %101 %120 Al 2H*150% 2,321
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S BOMRIRIA
B HF2AAL(GIIURA)
£hol: Il = 2| CEERED
: - . YE]
SA - EHH . C(S) - MRAY - BAS Ofl &4 S HI DS
Jl= &l 105,628 107,342 A1,714
Jl2ZHI(3otelaa) 105,628 107,342 A1,714
201 LEH2 & 52,788 54,102 A1,314
01 At 2teltl 52,788 54,102 A1,314
CHEIETER =3 28,800, 00024 * 141 28,800
o=l 11,520, 0003 * 141 11,520
OgYx= 12,468,000 14! 12,468
202 04l 41,800 43,200 A 1,400
TENCT] 41,800 43,200 A1,400
oYL= Jl=oit| 41,800, 00024 * 144 41,800
203 PR F & 11,040 10,040 1,000
01 J122FHSF A 6,000 5,000 1,000
OJ22dHR=4H| 6,000, 0003 * 14! 6,000
VS EES 5,040 5,040 0
OFN2YYLETY) 420,008 * 122 5,040

~ 244 -



